SHEHARTE S5=(E)FAFAER  HHf : 94.09.26

&0 1-3,4 PERR| = BE |
E | mENNERER |EE %

— HIEBE(FE 10 )
L T LR DA =(x25) > OB =(203)> OC =(8°%) (x<0) & A> B> C = Bt
Hl x pyffits(A) -1 (B)-2 (C)-3 (D)-4 (E)-5
{Ejé’ﬁ] (A)
{%‘fﬁjé]
_ A\ A\ A\ 2\ A\ A\
AB=0B-0OA=(2-%x>-2)> AC=0C-0OA=(B-x>x-5)

~ . 0 2-x -2
A>B->C=REH M < I & ==
RiH AB /I'AC -
= (2-X)(x-5=-28-Xx) = x*-5x-6=0
= (X-6)x+1)=0 = x:—1’6(7\f, o x<0)

= AFEEE 10 )
2. 00 0)» AR 1) B-1-2) > C(-1-0) > ¥

2 A A ) N\ e
(xX*—3x+2)OA+ (x—1) OB+ (xX“—2x+1)OC =0 > :Fx.V fifi &%
[EJ@FAT] 1-4
[]?EEJZLL]A _\ A
OA=(21)>» OB=(-1>-2)> OC=(-1>0)

L 2(x* =3x+2) - (x-1) - (x* -2x+1) =0
Hp (x? =3x+2)-2(x-1)+0=0

= X-5x+4=0 = (x-4)x-1)=0 .. x=1-4

3. F%a:(l 1) b=(2>3)  c=(-4--7) W sflitfc=ra+sb > [EEHr > s) =

c=ra+sbh = (-4 -7)=r1>1+s@2>3)=(r+2s>r+3s)
r+2s=-4 r=2
r+3s=-7 "~ [s=-3

4. FA(-2-5) B4 3) > Pi[IsAB AP : PB=1:2> [[[Pl L,
N 13,
[ i1 (0 3)59(—8 » 1)

%P(x Y)

£1H



X:1><4+2><(— 2) _

0
©F PEL 5B AP 1 PB= 112 ] 1x3+1§><25 "
T 1+2 3
1 2
A(—z,g) P(;”y) B&q)

@F, PRV IR AP 1 PB=1:2 [AP : AB=1:1
L (Dx4+42x(-2)

142 x=-8
C(Dx3+2x5 ly=7
142

P()i'vy) A(—;’ 5) B(;Ilv 3)

. 13 _.
PHIECEL0 > ) ( =82 7)

1 2 11 4 \
5. " ADEF[[1> D(= » =) E(= » =) EI'=G(3 > 3) » [IF I I fg
+ADEFlT- D(5 > 2) B> ) Fi=GE > 3) - [ 2

(51 6 7)

GO
1 2 11 4
D(=» £) E(== > 2)»F(xy) > G(@3-3
(3 3) (3 3) (x> y) > G@B>3)
1 11 2 4
S+ 4 X —+—+y
%:3,%:3 = Fx>y)=(-7)

6. \ABCF1 > A(2 > —8) » B(-6>—2) > C(6 > —5) -
(1) AABCRUE =G L A5 E] o
(2%, £ AV 5358 BCHD » D4 o
()% £ A 9f £ ST 58L0 [ BCHE » SREL A o

(ER1 G 0 -5 @@ -4 (a8 -89

GO
o 2-6+6 -8-2-5_ ,2
1) AABC fUET & G I L f22t, : _(%.,_5
1) PVE R E( 3 3 ) (3 )
(2)AB=+/64+36=10> AC=+16+9=5 = BD : DC=AB : AC=10:5=2:1
Z D(X - N S, D@2 -4
EoN = @ -4
1+2

£2H



(3) AE 15Z APU9f #1535 = BE : CE=AB : AC=2:1
(-1 x(-6)+2-6

“1)+2 ~18
LENY) = D+ - X . E(18 - -8)
_ (-D)x(-2)+2:(-5) y=-8
-D+2
y
SO TV g
RN o S
PR “E
A2 -8)
7. #AGB>2) B(GE>—1)> C(—1>4)> “I512AB =CD  HIDL 4T .
[Ejzé 1B -2
Eﬁi]

DY) HI2AB =220 -3)=(4-6) CD=(x+1'y-4)

2AB=CD = (4 -6)=(x+1>y—4)

Dete = 20, worene -2

8. #*/\ABCf/I D eAB “ AD : DB=3:2-EeAC " AE : EC=2: 3> ¥ CD% BEf!

o\ _A\ —\ —
THP AP—xAB+yAC ,E:,jqj%x’yj/@ ’
4
AN X—— A
[f’ 12D ~19
{%:Eﬁi]
ﬂJmJ LU A AADCH s E P BE gﬂ‘i
CE AB DP 3 5 DP DP

S e e =
EA BD PC 2 2 PC PC 15
—\ —\ —\

= AP—EAD 4AC=—5

19 19

19
S+ tac-2aBstac
5 19 19 19 )
9. Fu+v=(2-3)Y 3u+2v=(-1--2) fu=___  =y= O
il a=(-5--8) > v=(711)
(o)
U+v=(2>3)---- @ , s
{ 1420 = (1 —2)en  FI@-Ox2HU=(=5>-8) 7 OHv=(711)

£3H



10.0=(3:-2)» v=(1-4)» Ww=(-1>-3) [d - 2V-3W)= .
[ F’%“]—l9
4]

2V-3W=2(1>4)-3(-1--3)=(2:8)-(-3:-9)=(2-(-3)'8-(-9)=(5"17)
0-@QV-3Ww)=3>-2)-(517)=3x5+(-2)x17=-19

A\ A\ A\ A\ A\ Qné A\ A\
11.0A=(3°1)> 0oB=(-1-2)> ocLoB > BC// OA ° OD+ 0OA=0C ’E'IJ =

o

ft] (11 6)
.]Z]

f'% =X y)= OC =0D + OA = (x+3,y+1) - BC = OC—OB - (x+4,y-1)
EI ﬁ = (x+3,y+1) - (-1°2)=0 = —Xx+2y—1=0----- @

E"BC”@\\ — (x+4y-1) 3B 1) = %4=yT_1:x—3y+7=0 ...... ®

OL

HI0® =x=11,y=6 » # OD = (11 > 6)

1257 1 BA B Co I AB=(4 1) » AC=(1 - -3) - ]
(1)AABCV H 1 - (2) AABCV R :

U] 5 +174400 - @)%
(2]
—\ —\ —\ —\
(1)AB=(4>1) = |AB|=417 » AC=(1>-3) = |AC|=+10
BC=AC-AB=(-3-4) = |BC|=5
A\ABC V% | == |AB| +|AC | +|BC|=5+17 ++10
(2 AB - AC=1

/A\ABC V17 :%\/Iﬂa\ IZIE\ |? —(WB\°A—C\)2 :%\/17><10—12 :%

13,1450 [ B2 AR 1) » B(-1 3) » €3 2) » 7 1~ HiDify L CD // AB ~
BD Lﬁ hoRE :
U] G 0 o)
i‘_ppqu

%D I AARER(X 0 y)

=

L

A\
CD=(x-3°y-2)" ﬁ—(—s’@’ﬁ:(ml’y—s)’ AC =(1 > 3)

coiAE = -

L

af%l4x+3y=18 ------ O]

£ 4H



BDLAC = (x+1:y-3)-(1:3)=0H x+3y=8-@
HO O = DioY)=(3 )

14547 /\ABC B YA 0 SITAB= (30 K) 0 AC= (2 1) » Ik IV fiEG
L] 145 —6
(0]

_\ —\ A\

BC=BA+AC=(-3 —K+(@2 > 1)=(-1> 1K)

A\ A\

fi£A=90°> AB - AC=0 = (3:K)-(2:1)=0 = k=-6

. —-— =3 2

fi{£B=90° BA - BC=0=(-3-K) - (-1 1-K=0=K-k+3=0 (}f » D<0)
El}’éCzQOC’Eﬁ’ﬁA'aﬁ:O — (1 k=1)-(=2>-1)=0 = k=-1

15.%3:(15’ 1) 15:(2 »3) > ;qt;‘/f@t@, o |ta+b | e
Y -2, =

S F'] 2 2

(%Eé]

|ta+b | =4/(t+2)% + (t+3)° =+/2t2 +1Ot+13:,/2(t+g)2 +%

. g 5 o |1
L ’é.l[t=—EE?*]’|ta+b| EJE’J‘[@\/;

16.|%a=(1’2)’6=(t’1)’
(1) (a+2b)// (2a-b) > t Vfifith
(2 (a+2b)L(2a-b) » t Vit
.ﬁ 1 7 .
[Eéﬁ](l)g (2)54;[&—2
(];’E“é]
()a+2b=(1+2t>4)>2a-b=(2-t3)
(a+2b)//(2a-b) = (@Q+2t):4=(2-1):3 .. 8-4t=3+6t = t:%

0

;

(2) (a+2b)L(2a-b) = (a+2b)-(2a-b)=0
L+2)2-10)+4x3=0 = -7)({t+2)=0 = t=%ﬁ9t=—2

£5H



